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TERB| TEEH || eFITE MG | R
BAO20 #4514 | 30 | BA030 | SS | 10
BA0O50 | FS | 0
BA0O70 | SS | O
BA030 |4 k14 258 | BA140 | FF | 0
BAOS0 |m# 14z 30 | BAOBO | SS | 0
BA0SO | FS | O
BA060 |z » * 120 | BA09 | FF | ©
BAO70 |[gLip] 4 % 258 | BA140 | FF | 0
BA08O |-k 24 60 | BAO90 | FS | 0
BA090 [B2:4f 30 | BA110 | FS | 0
BAL10 [1F21f 30 | BA120 | FS | 0
BA120 [2Fi:4 30 | BA130 | FS | 0
BA130 [3F:4 30 | BA140 | FS | 0
BAL40 [4F:4% 18 | BA150 | FS | ©
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5. 1 A2 P % (2.4.1)

L Y3 % L 9 7 Hix| #& H i
1 |B%xa1de b 1 1,701,400 1,213,032
2 | M2 26,121 35 24
3 |BEiiiER M3 29,544 98 66
6 kT 22T Bt 1 4,063,880 2,738,460
EEEEE T I X 1 260,000 175,202
8 | Ex M2 22,150 180 121
12 |;=3 24 3500 PSI M3 13,611 1,950 1,314
13 M 4 4000 PSI M3 3,194 2,050 1,381
15 |$d b M2 | 130,429 330 222
17 |4 % 2> FY=4200 T 1,592 14,800 9,973
T |gmz e N 1 16,978,619 11,441,105
L EEE N N 1 346,502 233,492
2 BB EFeER N 1 346,502 233,492
# 1R 7 At 1 1,039,507 700,476
%o |1REE N 1 1,039,507 700,476
B |4 N 1 18,312,654 12,340,048
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6. e B R &~ &

7 P 6 ” B2k
RS A 39,361,940 | 189,151,589
1 BFEAA| 1879821 | 32,683,780
AR 293,585 5,061,888

g3 41,535,346 | 226,897,257
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X7 p 2 M 72(24.1)
TE LA | B £ K38 P Hi| #& & H iy A 1%
- ﬁ‘;&ﬁé 2 |k M2 1511 24 36,272
11 |4 & 2 M2 1380 121 166,980
16 |:» }}i;{ 4000 PSI M3 018 1,381 1,267,537
17 |-k M2 1260 290 365,510
18 |4 i 4% M2 7170 222 1,591,771
19 |[4p 55 22> FY=2800 T 105 9,771 1,028,495
20 |4 55 > FY=4200 T 100 9,973 995,804
B 508,942
2 2t 6,051,312
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13. F E & 2 (2.4.1)

LER S AR

BCWS ~ BCWP (earned value) ~ ACWP
L ER/ AL R

SV = BCWP - BCWS

CV =BCWP - ACWP

LY JE RN £52 8 2
SPI = BCWP / BCWS
CPI = BCWP / ACWP
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14. 3¢ Bl JE
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